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Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.
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The question paper is in the form of Question Booklet with 80 Objective type questions based on
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As the OMR answer sheet is being machine scanned, utmost care should be taken while handling / bubbling
answers. No spare OMR sheet will be proevided.

WA qReasr & i o F1F W AR W e 1w (A/B/C/D/E) Y 3 W AR Se o F R
T TR R R s i

Question Booklet Code (A/B/C/D/E) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

FeAF T 1 I F Y, IR T & W Y HF AR T 3R F BT 0.33 Homens s B e

o T I 30F Sca¥ T Ieal AT SO

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.

THRT §1e & Jfey Sorpaiet, M W, THE W, dedie, God e, THIvIE Ao, SR TS
P AT TS H Feeriios AT F A B gl A e AR P e S aw A 3 adww
I AR T & SO AR W TN Aediea Ag BT S AR O et & e
Wa@mmmﬁm@@ﬁmsﬁmﬁmmwmﬁﬁm@a
et @ w&dr & ueer fRar ST @R

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall, If caughi red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed:

W UF A I T H 3G I B F AT BAwr ST T B

Space available in the Question Booklet can be used for rough work.

R WA P W, M T AN SER fiE # IR R aw B Rl § wiF 3 a7 oo am sew
e e F1 Jo& FT § U T Felde wf st s o v o 3 o e o Wi we
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On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.

Jpafeialt e GA g % A% e TheT gl ol #1 IR ¥

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
0T % ate, SEEERt F 3 W AT IR qReE iR sEmRE v T e @ @i S @R
foer ¥t & wier o7 wddew @y Ag | g 3T 3T T IR e W Avgiwa & AT FOR 85
fomam Seam s@er o Rer 5 rawerar & TddeTE A Ao $ SR sl & &

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card fo the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigilator without fail.

mﬂmﬁm*mﬁﬁﬁmﬁmwmﬁmmmﬁﬁgﬁm%f&v%ﬁﬁaﬂ
o fou e §

The questions in English version alone will be taken as authentic though questions are given in Hindi also for
the convenience of the candidates.
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x—:—l:—%. x & AT ffFu) )
4 5
x+lx—?i. Fin& x.
4 5
i 6
(a) 20 (b) 20
9 17
-~ d ki
() 20 (d) 20

700 mm H BFaa e g7

How many meters are there in 700 mm?
(@ Tm ® 07m
{) 70m (@ 0.07m

T GEAT FT 80%, 20 &1 TEHT &I 94T 0|

80% of a number is 20. Find out the number.

(a) 25 (b) 250
{(¢) 50 (@ 500
Vo4 =

(a) 0.2 M 0.02
) 0.002 (d) 0.63

BT BT A
Bronze is an alloy of
@ Cu+Z () Cu+Sn
&) Cu+C (d) Br+Zn

10 mm T €Y U g T go OHIT 10 gms BT &1 Keg/m?® H I &7 Sier drel I
F Uelcd AT HfAT

A ball of diameter 10 mm weighs 10 gms. Find out the density of the material used in Kg/m3
approximately.

(a) 2400 by 2000
(¢) 2800 (d 3200
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11.

12.

59 96 fFT AT GllE EE F osaRT Bl & S9ied BT srar § oo d3Re Soug e
glar g7

What is the end product when cleaned iron ore is processed in the blast furnace?

(a) 3 T gl / Pigiron (b)  =TAT @gT / Cast iron
() @er 3T / Mild Steel (@) EI‘\?T &l YUY / Lime stone

TgAoH FId A 597 Yoy 98+ &t & AT @i &1 dcg oer 7

Which is the element responsible for providing corrosion resistance in stainless steel?

{a) Cu by OCr
() Ni (d) ‘C

. 'w}z

e FoAT TR @ TeF FoR 39ER0T AT Idke Iea Fo giar &2

Internal stresses of a hardened tool is reduced by which heat treatment?

(a) 37AATeieT/ Annealing (b) . AT /| Normalizing
(¢) TRlFoT / Stabilizing (d) EIH / Tempering

U a8 W10 N & ool gar1 F far Svar S g & waler 7 e A R # 05 m @
3 STt 1 Nmm # &1 1 {31 Srar g2

A body is acted upon by a force of 10 N which moves the body by 0.5 m in the direction of
application of force. What is the work done in Nmm?

(a) 5 Nmm (b) 50 Nmm
(¢) 500 Nmm (d) 5000 Nmm

o e #, 2 HIol @ 50° M 50° & T F AT S §i A For §
In a triangle, 2 of the angles are measuring as 50° and 50°. The third angle is
(a) 50° ®) 60°

(¢ 70° (d 80°

S Gl & MUR R gERT ST Tt §, 3G T §

The property of a material by virtue of which it can be rolled into sheets is

(a) CATRCHr / Plasticity () SHICTAE / Elasticity
() FHeufafady / Malleability () sSTEFE / Ductility

4 763-TN(T)



13.

14.

15.

16.

17.

GIEIT 3R AT FR AR FOR agd Feg a1 UEH & Feuea & v fre ang swER gl
T SHLTT FoRaAT ST §7?

Which heat treatment process is used for producing a component with rough and ductile core
and hardened outer surface?

(a) TET T / Hardening (b) FE TET g4 / Case hardening
(¢) <eFgReT / Tempering (d) WHABHEOT / Normalizing

I Rl wrer eng @ FEIfed g W galg Qe g Sar § df 3SAT e Ry e &
FGan?

By what factor will the heat input increase, if the current is doubled when current passes
through a conduction metal?

(& 2 . ¥

b 4
@ 8

(d) FvAT TAY A T/aT & / Heat input remains same

FPefaf@a # ¥ FF @ a0 70T F Tee g RET F cege F v EEr 37

Which of the following force is responsible for wear and tear of moving parts of a machine?
&) ﬁﬁ:ﬁﬂﬁ'ﬁ% gl / Electrostatic force

(b) ©99T S / Frictional force

() hegddT g / Centripetal force

(d) Eﬁiﬁ]ﬂ' ol /| Magnetic force

Uh B & TcH ¥ AN 95T F¥e & ol 39909 50 I aier $ea & 390 & ™9 H
ST ST 8 -

A cutting tool used for finishing and enlarging a hole is known as

(a) T3/ Drill () 9/ Tap

(©0 qAT/ Reamer (@ IE/ Die

O &l 5§ W ¥ &= Ben B

Steel Rule is made of

(a) TS / Brass (by S/ Zinc

(¢) &=y TErer / Stainless Steel {(d} F¥Fc I / Cast Iron

5 763-TN(T)
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18, P EFi T dT | I W AT &

19.

20.

21.

22.

Lathe Bed is usually made up of
(a) T Trer / Mild Steel X (b) HEE HRRA / Cast Iron

(¢) TTow T / Stainless Steel (d) Earee H1EEs / Tungsten carbide

&I S92 el 99 1 3RR gUF AT fAfse & &
Size of a three jaw chuck is specified by

(a) YAF @3 &7 JFR / Size of each jaw

(b) YA a8 H MTE / Thickness of each jaw

{¢) 9% & N FT Tl / Diameter of body of chuck
(1) T® & WK #T 93 / Width of body of chuck

’1:0133 AT IR F AT, Fea AR s A B Y IR D s e aw §, ar

‘n’%?SF’ff%

EDg’. If ‘D’ is diameter of job, ‘n’ stands

For a turning operation, cutting speed is given as

for
(a) P Hr FEAT / No. of feed

(by 3130l dr FE&AT / No.of cutting edge
(¢ dT%dm & fav gfd Aae wifadl $ F&ar / No. of Revolutions per minute for the

workpiece
(d) e H IEUE FT FEAT / No. of depth of cut

90° ¥ AT F FON F &gl Far &
Angles below 90° are called as |
(a) 3T / Obtuse (b)  FgA/ Acute

(¢) TA/Right (d) 3AF A PIS 16T/ None of these

oY o PeofEd F O A 3T eRg W FE T TS & & R R S 2
Which one of the following on a lathe is used to give depth of cut?

(a) wHUT3E TENEsY / Compound slider

(b) IF FessY/ Job slider

(c) IH TossL / Gross Slider

(d) FUFT HI FARITHT T / By adjusting the tool

6 763-TN(T)



23.

24.

25.

26.

27.

WA SEREl & v v cfave fger @ &g wor §

The point angle of a twist drill for general purposes is

(2 116° @ 135°
@ 118° @  60°

el & @ R5d Feet & STFOT &7 0T AL AT Sl §2

Which of the following is not considered as a property of cutting tool?

(a) 3T I FORaT / High hot hardness

() FH FIT / Low toughness
(c) 37=BT Ygals &1 U / Good wear resistance

(d) 3= TTARAT / Good conduetivity

U AT IRETHE FT 3G TG AT, T <loier e § SAlST T §
While using a taper furning attachment, the taper turning attachment is fastened to

(a) oo Teieh/ Tail stock

(b) ¥%/Bed
(© HRST/ Carriage

@ =g TolissY / Cross slider

& RN §HIE & G S & T, 55 YT 90T Siel d1ige

For facing an angular workpiece, it should be mounted on
(a) 3 ¥ T /3 jaw chuck ®) &gl F 99/ between centres
(c) @leie/ collet d O o€ W/ aface plate

Trafafa & & =l ar &g o @ e @ &2
Which one of the following is not a part of centre lathe?
(a) WSBA/ Saddle () HIF Us/ Feed rod

(¢) 3feX/ Arbor (@) s Th/ Lead screw

7 763-TN(T)



98. Tefaf@a 7 @ iF @ Iusor FUT A H g N F OFY 3TN B e F

29.

30.

31.

82.

T & v e e mr §2

Which one of the following tool angles is provided to avoid rubbing of tool with work piece in a
lathe?

(a) & T/ Rake angle (b) gy T/ Helix angle

(¢) FARRSY T/ Clearance angle (@ 3RIFd H ¥ Fig 78T/ None of the above
TF B Tole W @ ST §

A face plate is held at

(a) @S Tiw P45/ Head stock spindle  (b) - ¥ieh / Tail stock
() o 9/ Tool post (d &8/ Bed

qU F RIS G &

Carriage in lathe moves ,

() ot &7 g¥r & TRl o FIOT 9T/ At any angle to axis of rotation
() ot & gl & WA / Parallel to axis of rotation

© ol gfl % wi9dd / Perpendicular to axis of rotation

(d) IUUFd H § HIS JA&7/ None of the above

frfaf@g & @ Fee 398 gl saw & 3o% ST ¥ S aifET = % fow o
9 = s & forw fRar S §7

Which of the following is used to hold the work piece for machining outer diameter concentric
to its hole/bore? '

() T W/ Face place (b)  H3T/ Mandrel |
(¢ 3 919 T&/ 3 jaw chuck d) 4 J§2 TF/ 4 jaw chuck

TFERICHS & BT EAAR T aadiel 39601 H YR a1 sar §

Negative rake angle is usually provided in tools made of

(a) Zaeest FEISS / Tungsten carbide (b) B TiE Tl / High speed steel
(¢) BT§ e Trel/ High carbon steel (d  geof Txea/ Tool steel

8 763-TN(T)



33.

34.

35.

36.

fEoTer carge #idar g A o T AR o Fed gay, s & afy ge AR

While cutting internal threads on a lathe with single point cutting tool, the spindle speed
should be

(a) ToleT Tieter JToeE & Al & &I / Double the speed of plain turning operation
(b) A AT TR T AT & @/ Less than the speed of plain turning operation

()

Tole] EfeaT ATaeRT & oy & 7 / Three times the speed of plain turning operation

(@) voleT T e 6 ofa F suse gl =IRT / Equal to the speed of plain turning

operation

ﬁmﬁf@aﬁ@aﬁamaﬁw%ﬁ?ﬁwmmﬁ%ﬁvm@
Which of the following is suitable to get better finish by turning? -

(a)
(b)
{©)
(D

a1t 3R g Fe¢ / Increase the speed and feed
I 3K B1E ®7 HL/ Reduce the speed and feed
AT T, BT F7 Y/ Increase the speed, reduce the feed

7iTd &7 &L, BIg F@7/ Reduce the speed, increase the feed

TEd f6g e 7 Sl a1 FivT I & 3 vaw 7 wae wwar 87
Which one of the angles in a single point cutting helps for easy flow of chips?

(a)
(b)
(0
(d)

3HfeeT WG 0T/ End relief angle

158 RET FI0T/ Side relief angle

ST FRT T FT/ Side cutting edge angle
4% & #0T/ Back rack angle

VY IYROT W AT S I ERTH T § A

The chip breaker on a lathe tool is essential when

(a)
®)

(©)
(D

S FHA & GHTT / Turning soft material

AHAT TG FY AR 3R w1 @13 / Turning ductile material and to break the
chips

FIFC 3R B GAGT/ Turning cast iron

3AH  Ars o 7Y / None of these

sy
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37.

38.

39.

40.

41.

fArafaf@a & ¥ Sl O FRF Fea A Afd F TI I YA Fal FEN?
Which one of the following factors will not influence the selection of the cutting speed?
(a) 3 fFAT ST/ Operation to be performed
() g% 9/ Work piece
(0 € HTHAY / Tool material
() g% W FT =G / Diameter of the work piece
X &g @ qoen # 7 Fw A gar §
Dead centre as compared with the line centre bears
(@) & a¥ur 78 / No friction k) G T99T/ Equal friction
(c) H TYUT/ Less friction @ I T997 / More friction
Sefalea & & frg oest &1 39dler uEr arel gesr o) R Siar g7
Which one of the following shoulders is used on components to be threaded?
(a) THNRR est/ Square shoulder
(b) SIW AWesT/ Radius Shoulder
(¢) 3istHe e / Undercut shoulder
(d) ¥des 2AesT/ Bevelled shoulder
fr=faf@d # @ sl a1 FRF tF 9% 99 T AT T WIS F 9T w FEiEd war 82
Which of the following factors governs the _selection of feed while turning a work piece?
(3) 3UFROT FAATA / Tool geometry
(b) 3TaYIF TG IREHIT/ Surface finish required
(©) IAET fhU 71w ofiaasd &1 9§/ Type of coolant used
(d) IR @/ All of the above
oY 95 dr TeEE qag g 8
The sliding surface of the lathe bed is
(a) @ FoR/ Flame hardened (b) TS/ Annealed
(c) NS / Normalized (d) ¥9S gidr ¥/ Tempered
10
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42. VU AT GAY, Tge A fRAT ST ¥

43.

44.

45.

46.

While step turning, it is preferred to turn first
(a) 93T =419/ Larger diameter "

(b) BT =IH / Smaller diameter
(© @& # F S T (a) A (b) / Either of () or (b)
(d) TETF T P N 7 (a) AT (b) / Neither of (a) or (b)

cafer AT F T Far smar ¥

Trepanning operation is performed for

(a) sATEE e/ Blind holes b) o2 MFER F S’ Big size holes
(¢) BT AR F FeF / Small size holes (@ &9 §iRGET/ Step boring

ﬁmﬁ@aﬁ@ﬁwﬁwmwﬂw%mﬁﬁﬁ%wﬁ%%%mﬁ?

Which one of the following abbreviations is used to specify a metric thread?
(a) S48 x8 : (by Tr60x9
(¢ Mi6 (d) SIH & NS 77/ None of these

mmmawww&mﬁ@mmﬁwmm@

Which of the following diameters of the work piece should be turned before cutting external
threads?

(a) WY =AH/ Minor diameter
(b) YHE <917 / Major diameter
© M= T oI / Pitch circle diameter

(d) o e IR A= 94 &4 / Minor diameter and pitch circle diameter

af TR e F ITHOT F TNMG-220408 A1 feam arar & ar T =7 &7 379 &7
If a cutting tool is named as TNMG-220408, what does T stands for?

(a) '\‘I‘%W_],HTJ Tolerance

(b) T T3AT &7 ¥R/ Type of nose radius
(c) TATEY #I0T 31/ Insert clearance angle
(d) T STl / Insert shape

11 763-TN(T)



47.

- 48.

49.

- 50.

51.

TF TR A & 20H7 & & F xiar s 8, W @ aar 3y g
A drawing dimension is denoted as 20H7, What does H’ stand for?

(a) Qﬂ%‘“ﬂ?ﬂ Aofy / Tolerance grade

(b) e @1 TR/ Type of fit

(¢) #iifers e/ Fundamental deviation
() IS H  F 181/ None of the above

v fm 9 Hew WAl IUR & SIG T AT ST FAT FROT E Fehell §7

A given component cracked after heat treatment. What can be the reason?
(a) =¥ o AT I T AT AT AT/ It was heated for long time

() TH TS T 95 W O § TE A8T e STar 4r / IFwas not properly cleaned before
heating ’

(¢) U IS FIgoTee 38T L f&AT AT U1/ It was suddenly cooled in brine
(@) uE - Far F S8 IAT U/ It was slowly cooled in air

et 3R Ao o [T §
Cyaniding and Nitriding are two methods of
(a) A HAT/ Hardening

(b) TATAI/ Annealing
(¢) TFIRIT/ Tempering
(@) I90Fd # & FI5 781 / None of the above

AT FORAT ATHAIA T, I B F a1, TUFOT Klod H F41 gerar S Afge?

After heating upto required hardening temperature, why must tool steels be quenched?
() A& I & FH K & o€/ To reduce internal stresses

(b) @O TTAT &I AT el F AT/ To build up hardening structure

© YA= ¥ P & AT/ To fall off the scale

(@) 3T FF TLEAT W desT & fIw/ To return to its original structure

ed) I IO AHA B A & T ST R e arer 39sReT §

The instrument used to measure high temperature in the furnace is

(2) UHFIET/ Thermometer ®)  HeERE / Calorimeter
(¢) RFEI/Barometer (d YRRHAET/ Pyrometer

12 763-TN(T)



52.

53.

54.

55.

56.

T=f@a & @ @l @ T0a Fgar s e § W tE diaas F SReT gied
gl §7

Which one of the following structures of steel is obtained due to drastic cooling from austenite
structure?

(a) YUdISE / Pearlite (b) HFCET/ Cementite
(¢) #HIEHST / Martensite (d) ¥/ Troostite

HSS 39907 & FoR gl & ov Fefaf@d & @ =ia ar a9 Angd 32
Which one of the following quenching media is for hardening of HSS Tool?

(a) =T/ Water (b) ERT 9=l AT ’Eﬁﬂi Brine solution
¢ aT/0il (d) EET & IR/ Soda water

T 3umR ulrar &, vAifer T sier &

In heat treatment process, annealing is done to

(a) HISATS FG F AT/ Increase the toughness
(b) FIFAFAT TG & fo'T/ Increase the softness
(c) TARAT d8r & v/ Increase the hardness
)] WEHT el & fIT / Increase the brittleness

CNC &Y & 39a0T &I Hiel AT AT EF 030 veeT Far §2
Which part provides linear travel to the tool in a CNC Lathe?

(a) Y& 3 PR/ Rack and pinion
(b) TH T/ Worm wheel

(¢) oI &h / Ball screw
(d) 3WFT H & S 78T / None of the above

fedser wiv & fov e M-ais @ oy v sifeaa fear = §2
Which M-code is defined and implemented to spindle stop?

(a) MO8 by M4
{cy Ml1 (d) MO5

13 763-TN(T)



57.

58.

59.

60.

61.

CNC o1& WranfHer & MO02 ®ig &l Far #i §7?
What is the function of M02 code in CNC part programming?

(@)
()
©
(d)

efidetes / Coolant on .
FHA @suest & 3d/ End of program execution
T84 Ferq/ Spindle stop

IYRTOT 9RddeT / Tool change

CAD T o7 & & §72
What is the full form of CAD?

()
(b)
()
(D

Computer Aided Development
Computer Automatic Design
Computer Aided Design

Computer Automatic Development

DT & F S a1 JTE 2T dow gifes T TR §7
Which one of the following standard tapers is a self holding type?

()
(b)
©
@

AT 29T/ Morse T_aper

137 3K ar¥ 29T/ Brown and Sharpe Taper
ST &9/ Jarno Taper

RAfew 29T/ Metric Taper

51T fraer arer after e arell A F aeer F fAwd g S § dl T RN glar 87
What is the trouble, when grinding wheel fails to cut in a grinding machine?

{a)
(b)
©

(D

dreer aren 9fgan oI5 9gd RA €laT &/ Grinding wheel’s grade is too soft
o= gren gfgar gader arar ¥/ Grinding wheel is glazed
drgey aren ufgar Fedse ov R §7 @ G AT AT ¥/ Grinding wheel is not

securely mounted on the spindle

g 3 WIS fear Sar &/ Too much feed is given

T e AT & weldy A TRUS @Ry & S 8
In a planning machine depth of cut is given by

(2)
(b)
(©
(d)

IUELOT THAES & TATHITAT &LAT/ Adjusting tool slide

SYHTOT UNF F EE T @ A/ Rotating the feed screw of the tool holder
HIT TASS & TAAT/ Moving cross slide

g% 4G $T 351/ Lifting the work piece

14 763-TN(T)



62.

63.

64.

65.

22T 85 99 & U I 1 §

Indexing head mechanism works with

(a) T AR P/ Rack and gear -

() a7 3R g7 BT/ Worm and Worm gear
() eI IEER f9H / Two helical gears

(d) & 9ger TRA / Two bevel gears

eiier g & €Y A fdee-3w v (BUE) I 7

What is Built-Up Edge (BUE) in respect to a turning tool?

(2) 3ITEROT & I W ol 1 G / Job material embedded on.the tool edge

®) U FEEs R ue 3usor e gy @iesE/ A carbide tip soldered on a tool shank

) T g T FERT T B WX T IR T A7 TF &/ A method of reconditioning

worn out cutting tool

(@) TH PEA d YR F FART 5T W UH TEer &/ A cutting tool edge with a crater
onit

ﬁmﬁ%aﬁﬁﬁﬁwmmﬁwg%mm%ﬁﬁmmw%?

Which one of the following cutters is mounted with its axis parallel to the surface of the
workpiece?

(a) el AT $eT/ Plain milling cutter

(b) T-Felte HeT / T-slot cutter

(¢) AT T TATT e/ Shell end milling cutter
(d Us fAd $eX/ End mill cutter

HEATeAF T0T &7 SN FRSY G e AR Rrre ff sdl # @ ave & e e
feam s &1 98 wuw §

‘The needs for jigs and fixtures is completely eliminated while using numerical control.
This statement is

{a) 9T/ False

() TE/ True

() RH FFET & 919 SUaER &a 99T FEI/ True when dealing with soft materials
(d) R I & O TN HY 9T AT/ True when dealing with hard materials
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66.

67.

68.

69.

70.

71.

Prrfafag 7ie B o yeR & gdg 9967 & 9T 39eer AR aHd Fee & [T FEe
R afd &7 37T a1dr §

Following machine uses only linear motion for cutting tool and workpiece for generating any
type of surface

(a) THTET AL / Milling machine (by  drger FI AW/ Grinding machine
(¢) AU/ Shaper (@ ¥/ Lathe

Fed & eNE REReIE BT 5w §

Discontinuous chip can form during cutting of

(a) HHT WHAT/ Ductile material

®) 35{3}3’ GHAY / Brittle material

(c) o Fea @1 Mg W IS 37 THEA/ Any material at high cutting speed
(&) =Etdr A F RS W SIS A G/ Any material at low depth of cut

V-sdis @ 39ENT e werE @ gEsy ¥ @ fwr o ¥ swd e & Id @ § S
HTAAN I Biel §

V-Block is used to hold round bars. It has a vee groove which is usually

(a) 30° ®)  60°

(© 90° @ 120°

S5 a fig BT §

The point angle of centre punch is

{a) 30° ) 60°

{cy 90° (d) 120°

Ehgal § &7 §

Scriber is made of .

(a) T/ Copper b) & Fde e/ High carbon steel
(c) FSes el / Mild steel (@) FEC I/ Cast iron

DrATART & § FFT FI9R0T BT ITANT SIEd SO & Gigdl i Y F & v R ST g7

Which one of the following instruments is used to check the concentricity of the outside
diameter?

(a) aHaT &/ Vernier caliper

(b) «EY A™HECT / Outside micrometer
(¢) ST UL Hhcla / Dial test indicator
(@) S/ Heal / Dial calliper
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72.

73.

4.

75.

76.

HISHIAY & [Aeia T & aar &

Micrometer works on the prineiple of
(@) &/ Screw " () &/ Bolt

(¢ *s/ Stud (d) &< 3R SeT/ Nut and Bolt

AR Famg AI9F 1 AER Zarn RAfse fovar o &
The size of a vernier height gauge is specified by

(a) o $r 9IS / Width of the beam
(b) F FI FA5 / Height of the beam

(c) TS AYF F TS/ Weight of the height gauge

(d) ThIZEY & T RN / Size of the scriber

IoTe & 37T 106 §

The prefix meaning 106 is

(a) &/ Kilo () I/ Giga
(¢) I/ Mega (d) AW/ Tera

IYFIOT SNt ATEE IHER & fow gar &

Tool life criterion is normally for

(@) #eX faUX/ Crater wear

(b) el BIT/ Flank wear
(©) e faax 3R wele @I/ Crater wear and flank wear
(d) #eX fqux AR & 397 / Crater wear and nose wear

oY & Sldd &g A1F & MRS 0T F QU dar &

The included angle of live center nose of a lathe is

(a) 30° by 45°
) 90° @ 60°
17
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77.

78.

9.

80.

Wqﬁﬁ&mu@méﬁ»ﬁwwwm%

A shielded metal are welding is an example of
(a) fTaggd =g afeser / Electric arc welding
(b) WA afesar / Resistance welding

(© ¥ afese/ Gas welding

(@ 3IWFT # § &g sier / None of the above

R eng seard & v B utg aeg & w0 A SIS F39EE JEE wH
Chromium as an alloying element, in alloy steel is used pringipally to

(a) FORAr § uR/ Improve hardenability

(b) FHH A7 Iod AGAE 9T Fif¥R o7 F UR / Improve mechanical properties at low

or high temperature

() o &HAT # 9% / Increase machinability

(d) ST 3R 3iferdiEoT WAy # guR / Improve corrosion and oxidation resistance

6 HFE TET B YA A F Fgel HIOT FEITT H, oM o g &

In first angle projection of presenting the 6 standard views, the top view is located

(a) WHEA & T ¥ &5 AW/ right side of the front view

(b) THS F T & a5 A’/ left side of the front view
(¢) T & T & FW / above the front view
(d) @A F T F @A / below the front view

e FAffd doevr F HaE ®or & fov Ry S §
The internal angle of a regular pentagon is

(@ 90 ®)  36°
(@ 120° (& 108
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